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5 = BENEES
SM7€18148 | BEH2—4
- B E4E(meg/L) 2V aF(mg/L) B $E(meg/L)
BLES ) =N F/MEmg/L) | UFs | RUEBMEE | o0 ampag | BRIESEE | NOEC/UF | RUEBMEME |\ o0 isnag | BRIESMEE | NOEC/UF | SE&HIE(E LC50/UFs {@tE=MME | NOEC/UF | ™*
(A) (B) (EC50) 1) (NOEC) (2G4 @) (EC50) 1) (NOEC) (FEfE 4 @) (LC50) (ACR*FZ[E] 4} 48) (NOEC) (FEREI4145)
108 |FNJITH/—)LTSY 2 =x 4 0.16 16 100 512 25.6 1390 16 1.6 11800 118
161 |[ZOVILBESYDOFR)DLIE 2 =] 4 0.36 360 1000 200 50 5 1000(> 100 360 3.6
45 oty 3 =a 3 0.016 038 50 100 34 6.8 10 1 5.9 038 0.16
15 AFILTIY 3 = 3 0.07 702| 10000 702 0.702
6 oA (Rl BIEIEAFIL) 3 = 3 0.09 900/ 10000 200 2 900 0.9
62 Jx/—)L 3 =n 4 0.12 1.24 10 160 25 25 4.2 1.24 1.24 8.9 1.83 1.83
102 |4v=Z7aE)L7I)La—JL 3 =n 4 0.6 30 50 1000 1000 200 2285 30 6 9640 96.4
4, 4’ —4yTJREYTooT7/—)LE1—onA—2,
87 3—IRFITONCOEHREYWRIRLERTZ/—ILA 4 = 2 0.003 0.3 100 1.7 0.3 0.03 1000 1
BIRF IR GRIKDBLDIZES, )
17 FhSAFITUE=Y L=EROFIR 4 =a 2 0.003 3 1000 96.3 6.25 0.625 3 0.03
55 m—JI=L2OTIY 4 =a 2 0.004 0.2 50 30 10 2 2 0.2 0.04 100 1
39 7)okl 4 =x 2 0.0051 5.1 1000 10 0.95 0.095 25 0.25 5.1 0.051
5 AT 4 =a 2 0.0074 7.43 1000 35.2 6 1.2 5.77 0.402 0.0804 7.43 0.0743
22 TESOOER)Y 4 =a 2 0.01 10.6 1000 15 1.7 0.17 23.9 2.39 10.6 0.106
v (p-) (p-) (p-) (p-) (p-) (p-) (p-) (p-)
156 oLV = 4 i 2 0.01 0.52 %0 52.3 95 19 7 0.52 0.104 14 0.14
28 BEERE =)L 4 =x 3 0.02 0.205 10 8.9 0.205 0.205 9.22 0.317 0.317 2.39 0.55 0.55
124 [(1—T%/—JL 4 =x 3 0.082 4.1 50 225 180 36 1328 4.1 0.82 1376 13.8
11 1, 2—o4HOQIAY 4 =n 3 0.1 1.02 10 230 55 55 99.4 1.02 1.02 118 29 29
81 FEILERYY 4 =n 3 0.1 5 50 58.4 30.9 6.18 445 5 1 180 1.8
EEDOTDASRERKE
oS N S N %%%%tb—c~ *E
129 (1, 3=VAVLTFHFRAFIL)REY 5 =n 1 0.00035 0.358 1000 12.5 1.1 0.11 0.358 0.00358 RSHEDUF(1072
ol
32 TOUILEETFIL 5 =x 2 0.0011 1.16 1000 2.26 0.961 0.192 4.39 0.19 0.038 1.16 0.0116
51 Roo)b=o0k(RRBIERDTIL) 5 = 2 0.0019 1.9 1000 19.3 10 2 3.2 0.1 0.02 1.9 0.019
97 ErFOXF LTIV 5 =a 2 0.00312 0.156 50 1.043 0.156 0.0312 1.6 = 0.616[>= 0.123
60 p—ZO0=-raORUEY 5 =a 2 0.0038 0.19 50 16 4.9 0.98 2.7 0.19 0.038 6 0.06
126 |4 5 =a 2 0.0044 0.22 50 2 0.22 0.044 2.14 0.35 0.07 4.8 0.048
201 1, 3, 5—RJAFILALEY 5 =n 2 0.008 0.4 50 53 16 3.2 0.4 0.08
67 TLIRIVEED AFIL 5 =n 2 0.0096 9.6 1000 5.27 10.8 2.16 30.4 1.72 0.344 9.6 0.096
117 |¥B 4 & 4 0.12 6.25 50 30.2 6.25 1.25 32.19 = 100[>= 20
10
6 — (AU TFRRUDIL) —w— (AYLFFRTT= -
- tEEMAE = =
225 DAY LA FFRT =L AF L] 4 & 4 0.2 e 50 1640 > 1640 129.7 10 1000
HLELT
&)
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@EEEFLE = B %E‘E??Z BEMH PNEC(mg/L) = - SR R FR &
{tﬂ%g EBAFTMIELEMELR (D REE BEE | H5R NS B |- R N R EC50/UFs | mmm, R . e &
BLES 8) R/MEmg/L) | UFs | RUEBIEME | oo mpae | BRIEEEE | NOEC/UF | RUEBMEME |\ o0 ispae | BRIEHMEE | NOEC/UF | SME&HIE(E LC50/UFs [g1E=MfE | NOEC/UF
(A) (B) (EC50) 1) (NOEC) (FEfE 51 %) (EC50) 1#) (NOEC) (FEfE 51 %) (LC50) (ACR*FE[E S+ 5) (NOEC) (FEFE ST

12 |J)AFH—)L 4 K 4 0.31 3.19 10 100 250 250 162 3.19 3.19> 200 112 112

82 e —h7O3594 L4 4 1K 4 0.7 707.1| 1000 4550 1000 200 820 100 20 707.1 7.07

35 | AR ILEE 4 K 4 0.82 8.2 10 33 8.2 8.2 130 53 53 85 10 10

253 |[FHRILEECIFIL 5 {129 3 0.012 12/1000 45 9 1.8 52 3.8 0.76 12 0.12

26 |7ERFILTEFR 5 K 3 0.018 1.86 100 25.8 1.86 0.186 29.7 2.97 30.8 0.308

131 |[oanxH/y 5 {139 3 0.052 527| 10000 800 8 527 0.527

34 | TUUILTER 5 1K 3 0.057 2.86 50 33.8 56 11.2 98 0.8 100 2.86 0.572

43 INFHAFLO=DUAYLTR—K 5 1K 4 0.11 11.7 100 77.4 11.7 117 89.1)> 8.91 > 82.8> 0.828

136  |[N—AF)L—2—ER0YFY 5 K 4 0.25 125 50 600.5 125 25 4987 12.5 2.5 832 8.32

85 ;i‘ﬁ?AzE&%gV_L A—ERANARTTFH 2 5} o} 0.01[> 100{ 10000 > 100[> 0.1 B%%

106 |FO/so—1, 2—S4—)L 2 0 A 20 1000 50 24200 1000 200 43500 1000 200 51400 514

68 |TLIRILER 3 ZAN AN = 0.4/>= 20 50 18 = 18 3.6 20.1 >= 20(>= 4> 19> 0.19 Bfé%

110 [2—(2—IrFPIRXD)IZ/—IL 3 PAS ZAS 11 11775 1000 147 = 100[>= 10 1982 198 ca 11775|ca 118

105 |ZFLYSFa—)L 3 A AL 20> 1000 50 1000 1000 200 1100 > 100 20(> 100[> 1 Bﬁ%

109 |2—TkF2TH/—)L 4 A AL 2.6 130 50 1000 130 26 1000 > 100 20[> 100[> 1

116 | AFILAVITFILTEY 4 VAN VAN 3 30 10 2000 580 580 200 30 30|ca 525 57 57

27 N, N=UAFJLRILLTER 4 5% A% 7.1 7100 1000 1000 1000 200 1000 1500 300 7100 71

150 |2—AVTRFLTH/—)IL 5 A 4} 2.1 2100/ 1000 1920 320 2100

135  |Th3ERBTZY 5 A) 4} 2.1 216 100 3485 34.9 2160 216 21.6

93  |#E/KEFER 5 ) A 3.2 3200 1000 3200 32

38 |7EF=FIIL 5 AL 4 6 300 50 705 705 141 1000 300 60[> 100[> 1

74 | AFLUER@4, 1—0z=L0) =D T 3R—k 5 VAN ZAN 13> 672.4 50 672.4 672.4 1345 64.46 > 4.97 0.994(> 497|> 4.97

23 |ITFLUHYIA—ILE/AFILI—TIL 5 A 4} 15 14977/ 1000 25500 8900 1780 27000 > 92.2 18.4 14977 150

255 %’ f 4_, :Zas'-/p:?: ;’ (2_ ;Dfu':'u':';)z,)lj))l’ A3 Gl A AL 1 0.00019 0.0095 50 0.85 0.54 0.108 0.92 0.0095 0.0019 0.61 0.0061

56 |o—JT=LITTFIV A A 2 0.0016 0.083 50 0.82 0.37 0.074 1.4 0.083 0.0166 4.6 0.046

65 |ERATI—ILBIEAhTI—I) o) AL 2 0.0089 8.9/ 1000 22 1.1 2.1 0.21 8.9 0.089

59 |=kARLEY A ) 3 0.019 1.9 100 23.78 1.19 33 1.9 0.19 24 0.24

118 |2—TrRFLIFIIL=FHEE—} 4} ) 3 0.022 22| 1000 1570 300 30 37 3.7 22 0.22

10 |yOooxT4y VAX VAx 3 0.094 9.4 100 118 9.4 0.94 58 5.8 2250 22.5

18 [ZhAARY A A) 4 0.18 36 200 36 1.8 450 45 > 659.2|> 6.59

95 |V0O0OFEEESFR)DL VAN VAN 4 0.42 427| 1000 427 4.27

132 |3, 5, 5—hJAFLIVAONF Y —2—TIT o —1—F> A o) 4 0.42 4.2 10 234 43 43 224 > 100 100 145 4.2 4.2

69 |1, 2, 4—RUEUNAILKRUERT, 2— 8K A 4 A 0.79|> 792| 1000 739 73.9 792> 7.92

24 12— (1—=AFILILFI)ITH/—)L A 4 AL 1.9 08 50 1000 1000 200 970 08 19.6[> 100[> 1

80 [1,4—AFHY 4% A A 100[> 1000 10 1000 1000 1000 1000 > 1000 1000(> 100 145[> 145
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